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APPOLO STUDY CENTRE
TET Paper 1

Part I - CHILD DEVELOPMENT AND PEDAGOGY
GWhemngd Guibur® LMBBID HBLIGSH6D

1. "Mnemonics’ aiaiLig| © L6 Q& HTLTEmL WG]
a. HIGwmesuwim b. Benerey c. B5x8smens  d. 1B
‘Mnemonics’ is related to
a. Pneumonia  b. Memory c. Anaemia d. Amnesia

2. Detemmul GHPeded GWHmSHHTLLD 10& (pHBwoTs BmHs Geuemioul eyl
a. [mlewTenInsey b. suememLo C. HeLLeUTIRSHID d. SieiLieuld
In the present situation, the children must possess an important factor of
a. intelligence  b. personality = c. moral value d. experience.

3. ‘gl Lmefld Guol ubeud eTeTm SIeWIPSBILHD LiheULD

a. GWHMSL LIHAULD b. WeiteneniiLmeutd
C. @I LU(H6ULD d. pGIHBTOIULISI LI[HEULD
‘Gang age period’ is
a. Infancy b. Childhood c. Adolescence d.Middle age.
4. eljgnsgmser YflueufLb gHlewnllFFed BMID WG bHEH STewILILIBLD.
a. ufey b. o6y c. o Levauademio d. ereueilento
Adventurers have more braveness and
a. sympathy b. love c. physical strength d. mental strength.

5. wellg werbeupdduler QeuefliuT@® ShdbaTanid aflenguied SienUD 6T6T Lo BEH60
H(HAHISIMITT.
a. Ggwed — o awiie — 9ley
b. ofe —> @GP — 2 L aludbsid
C. 9fley — o iy — 2 L WD
d. werOaupsFdl — 2 _ewitey — Snsley
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McDougall says that the emotional expressions of human being occur in which
of the following sequence?

a. Action — Affection — Cognition

b. Cognition — Environment — Conation

c. Cognition — Affection — Conation

d. Emotion — Affection — Cognition

6. @HUUHD FBHIHAUBDB GHLHDHHEDHDHE QIS LD @6Tld HL 6T (HeTTerTSH 6160

&.BT. Feoll 60 UgsLemiLBhsHsHwigl.

a. 1969, gyderdl. 15 b. 1969, gliged 20

c. 1959, ageemev 16 d. 1959, meubuir 20

“It is the duty of mankind to give the best to the children” - UNO proclaimed
it on

a. 1969, August 15 b. 1969, April 20

c. 1959, June 16 d. 1959, November 20.

7. 8155 wBLID e 26 SmIH6Te0 (WeielensulILBHSHLILL Geauewmmguimel
a. auMpsHmaWla gBmISOBTeTeNSmIgUl THITOMMBUWITET LI
b. ampsmauler gBupIb6HTeTeNSmIQUI GHTOEMMBUITET LG
C. aumpsemauier GriTwenm, 6&ToenBwTer LG
d. ampsensuler APFAUBB LGS.
Print media and electronic media must project
a. acceptable negative side of life
b. acceptable positive side of life
c. positive and negative sides of life
d. seamy side of life

8. g fflwit &smESHOUTIO6] (LB Digdhdly LWLGTLIGHSHIMIHET (LPEVLD

a. 9IHBHH M6 b. miewiewiniey C. Leveutabml & d. Peveray
With the frequent use of brain storming method the teacher develops
a. creativity b. intelligence  c. perception d. memory

9. FHBemuie)sF FhHmerenuld SHTeni(Heud
a. (1pa1 cpewem b, euevgl cpewer C. BL& cwpemerr  d. e elpemer
Critical thinking is induced by
a. fore brain b.right brain  c. left brain d. hind brain

10. HFEIQHD 6TITEID DRIBIeVEF 6FTeL6VI6T CILIT(H6IT


http://www.educationobserver.com/forum

For nore materials visit www educati onobserver.conl f orum

a. uebBeuml GuT(HeTHMETL LT SH60

b. wLeBaum OUITHETEHMEIT  E(HHIE 6T H60
C. GQumpLsemen UILIBSH60

d. ueLBauml OUITHL BEMEIT GIIYAIMLDSHFHED
The word “synatics” means

a. segregating different things

b. organising different things

c. comparing things

d. designing different things

11. pedb@Gh LUBmHbGL WSDFFAUYD LD allenendHlaims 6Iamaullsd 616060T
Blemevseland CUTHSHSLILTHL 6T OClFweOLBUS]
a. GBHme0 FIMhHEI b. werpevld FTHBHSI
C. WSIILITEIHID FTThSHS d. QuTEHETTHTIID FihHS
Adjusting in all stages and making happiness and usefulness to self and others
is
a. based on environment b. based on mental health
c. based on attitude d. based on economy

12. souadidhFlei 2aFeom(HD SHEENLOUNGT HT60 D66

a. 5 - 20 alermgseir b. 10 - 15 alamgsel
C. 3 = 25 aNaImga&ai d. 7 - 10 alemgsmel
Period of fluctuation of attention is
a. b5 - 20 seconds b. 10 - 15 seconds
c. 3 - 25 seconds d. 7 - 10 seconds
13.SQ3R  (pempuwimed GobLBSHSLILIGISI
a. BHEUEILD b. BT LD C. 261HBID d. Peverey
SQ3R method enhances
a. attention b. aptitude c. motivation d. memory

14. BB SHMISB6T FHPeLD, [BTEN6N LOBIBTEDHDHE (LPHMSUI SHlPenLD
Bg abhs aumd CarmHene?
a. Gurel 9dley b. ufipbg OsTeEHHE0
c. awls O] d. Gammesenehdluwib
Today is Monday, the day before after tomorrow will be
What type of test is this?
a. General knowledge b. Understanding
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15.

16.

17.

18.

19.

c. Mathematical research d. Vocabulary

QUIUTT & 6Tl epeuld  gMLUBH MBS
a. oM + &S BUUTLTET GylD6L

b. QuBGBTT + SSHHATOTET @loed

C. gepsld + &L BUUTLTE G,lD60L

d. egliumgmoed + &SHATOTET GlD60

Peer group is formed by

a. Teacher + Controlled environment

b. Parents + Independent environment

c. Society + Controlled environment

d. Unexpected + Independent environment

BHBME0 GLpeVe0 S o eitenieuBmieT Fflwmen eufleng e1g?

a. HTFF — FHeuD — [Hleneey

b. Peneiey — seueid — HeUTFH

C. HURND — FHUTFH — Hleneaia]

d. Peneiey — SeuT&dd — SHeueid

Which of the following is the correct sequence in learning environment?
a. Interest — Attention — Memory

b. Memory — Attention — Interest

c. Attention — Interest — Memory

d. Memory — Interest — Attention

Blemeoulled GLHMBHENTED H(HHHHHNEN 2 (HauTHd EUIGID
a. CuausBE (Perums b. Gus olisHHa 6
C. UelTementl Li[heud 60 d. Wetewent LHEUSH B LesT
Children are capable of forming concepts
a. before verbalisation b. soon after verbalisation
c. during childhood d. after childhood
AUTFFH6T FTT OFWIGVHT 6B H(HHMSD (PHeT (LPFH6eVe0 LIWLIGTLIH S UWIeUT
a. Gemfum” b. yemeoir C. am6v d. emrelsmerdlr
The concept of developmental task was first used by
a. Herbart b. Bruner c. Hull d. Havighurst
61606V LOTEITOUTHEHSHGHLD Gy rGHMwmer FweLHmensd CBTHHSHTEID DIGUTH6I

CouauBouml alswnsll Lfha CsTeTeusBEGHd SHTT6mID
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20.

21

22.

23.

a. umevleud b. sBmed GHmBUTH C. SIILIAID d. wgy.

Because of the students understand in different ways though they are
given same type of activities.

a. gender b. learning disability c. experience d. heredity

RTE eaemuger aiflaurdsasid

a. Right of children to free and compulsory education
b. Right to teacher education

c. Right of children to education

d. Right towards education.

Expansion of RTE is

a. Right of children to free and compulsory education
b. Right to teacher education

c. Right of children to education

d. Right towards education.

. SMBumenaml Gy, yrsh SiFlweaumpier eueTdlems MBBHMS @RUMIGUBSIHIMSI

a. Beiraevles b. eaymdSes C. o feuredlent d. eyerdlndlesn
Hormone which regulates the carbohydrate and protein metabolism is
a. Insulin b. Thyroxine c. Adrenaline  d. Oxytocine

‘oufur @ alevmIF DIeLeY  eTEILIGI

a. GmBUL OUTZHIMLOLILINL &FH6D b. ensuL QUITSHIENIOLILIENL &&H60
C. SMJ6Ih &BLISHH6D d. sewLwmenm HTEmIge0

‘Amoeba is not an animal’, it is

a. restricted generalisation b. extended generalisation

c. rationalisation d. identification

HwrGmealledl &(HHHILILIY HENT MIOWIOTHS FHHHGID Heienld HTemTlILBLD
LI(H6ULD

a. Level ®uidhsll LI(HeULD

b. werF OFweoum’ HeE@ (WHMSBU Li(HEID

C. BMIGLISL LUTTILUmSS OETeni(h FhHob@HD LHeubd

d. @enpuwiter WIFGFWLCOLITT B LITHeULD

According to Piaget, Egocentrism occurs in

a. sensory motor stage b. pre-operational stage

c. concrete operational stage d. formal operational stage.
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24. 01w @6Vl CaHreiiBsh SHMyeuwILD

a. Ggal GepuT®H b. Hembd
c. GumpmenLo d. seauemev
Reason for auditory hallucination is
a. auditory defect b. anger
c. jealous d. worry
25. HTD&) LG ILITEITENLD Grrenw gBUBSHHIMHEL (PHSHUWIL LRIG IdHoHHBE
a. SLEOGILOT b. Gaxme0@Hmul c. pidley Gurur d. el Beued
Inferiority complex plays a vital role in causing the disease
a. Asthma b. Skin disease c. Diabetes d. Joint pain

26. GHMSHEHENEH FTHMGIMUW LITITL(HHEL DIGL6VGH! (GMBIaDBIHEV 6TeUUTH
UTHbBHImBD 61l LBMIS FnpluleuT

a. amTeVTd b. &medL 6T c. Lwirgeir d. o e
‘Praising or criticising affects the success of the child” is said by
a. Hurlock b. Galton c. Pearson d. Woods
27. u@GULI60 SHEITIEINTe0 (LPIQUID 6160 DiemeiidhdHl Couensvdemenuild gmmIF OCFuigl LO&IDLIGUT
a. Gumiywned sBL6UT b. uRGBsB®IG SHBLGUT
C. BmemibSHl SMLIGUT d. swwrss sBU6T
Who enjoys in doing all the works in the classroom voluntarily is
a. competitive learner b. participatory learner
c. pair learner d. individual learner
28. aMmev aiFHlD =

&) me0 CaiT & Hullelr ey
aB msH CHTeumm @ 1B Hid Obment L CHyLD
b &M M uTLL QUT(hHeT Sieey
aB ms» CHTeumpm @& 1B Hid Obment L CHyLD
c am meL CHT &F Flulerr Slerey

a.

UL QUIT(HIT  9J6TTeY
d &M M uTLL QUT(hHeT Sieey
’ BHMEVSH HL_ L D616

29. uliBd sefdsiul L auemmiyll UpTemel el Gsmealed Gsmygmiserilsd eubg
® &M ST.BU UBToasenel SPBRISF CFUIgH L119&SH60
a. (Pl SHeaupld  BHBB6D b. o By Crrédd BmMmeL
c. Qweoud 5B HeneOU|BISHHLD d. 965 BHaeouwpihsHd
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30.

31.

32.

33

34.

35.

36.

37.

By employing domesticated and trained pigeon, bringing down the wild
pigeons sitting on temple towers is

a. Trial and error learning b. Observation learning

c. Operant conditioning d. Classical conditioning

SHIDFS HITH HITEWIL 6L OMBAUBHBEG HIOMIGBED SHTJ0IoTS EHUILTET i
a. GpflewL eusdieyL L LD b wenBgHe0

C. aiHflenL  augaLL L LD d. sewiLeer

If a response is responsible for the extinction of unpleasant stimuli, it is
a. positive reinforcement b. extinction

c. negative reinforcement d. punishment

TAMIL

GrTuIsh@ HHEH Ee0HBUID 6T6aIm FnmluleuT
a. SHEN6VEUTEU0NT b. waraldaEieuTet e & SiboHyeunmit
C. sailnewf d. unydsraer

@IToTEDIET FTHTI60T LDeNSHT6060T DT Eewmeuett HbHL UM eleidh FnpsluleuiT
a. Gugm mFigGILIEL b. engge
C. 6O GILDGWTL GVUGNTL d. gmieverd

.ouTenl HTgFar LIphe o6

a. LG b. Gasyenm C. GURIGTEITLD d. alevelwignrmt

gHIM] aigdsefer GUWITHeMND & @BV
a. mevaid) b. Qureiaig) C. eeTaig) d. urewmit aig

2 ouendCW BOEBF QFUIH CHTHRGCHTELITE Qs 60T E\(HHBHTID, SieuengEul
weitelidh Calad OFulsh LoTeiyes

a. SDETL HLELAUT 6T F6iT b. anireverd

c. G.U. Gum d. QaewiusyTLO6T

allsCLAlwm wasrgmenilwrT srensouled Hewl alfiSHHHID (PHeJeD LIQH@GLID HITeL
a. emuLileir b. HmesGmeir C. H(HEUTFHLID d. Gum guuwewid

LDEMEVU|LD LDEMEVF &MTHS G (LpLD
a. (LpeLEM6L b. w@mswb c. OpUIgHeD d. efehd
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38. 1S ISHeTe LBlienu @ rimoiy, o160 B(HeUMSWITHL LMl &0
a. @euimLiy b. wwid sy
c. mTimLiy d. sjereriImriL

39. 0D elewTaMI(HBHEMeN 6I(LPHIH. 19, 25:

a. 59 b. aame_(5 C. 29 d. a5
40. ygI1Hsalms alemTFFlulled UmiE@ GUTBBSHHHHSH

a. 6160608 6ui16I0T6IT b. umygHwmi

C. MAUT(PHSBI d. sysr

41. umby eleugmuiser et
a. LIena6les b. mewiues C. 2 melere d. s@=srnmyes

42. @HMSHFH6IT HDEFFUL 6T yeuTfdgit urhd allewemuwim (Bl LITL 60&H6IT
a. ST (B LITL60&6IT b. aufum B umL_e0se6l
C. QFHMP6ed LITL60H6I d. BT GUYBL Um_ebaei

43. SBBIGIIT 616TLIGH6T GILITHeIT

a. w2 ewie) b. mevev o _ewie
c. sLBFCaTmI d. sewwss o eaviey
44. prgafler allgFeuunyg) &evgumil LOTHIEVSHH60 266G
a. GPTH b. GuB@eusisTenD
C. SeTOGIVTID d. S

45. ueneriyeni(h euuwIgHBeoBwr oMGUINT, FevlbuUld, euTelT ai&Fd eTeo
AlT&HHM6VHMENOLIEO6VTID BBMISH CHThHIH (HHSH Fmieues
a. urewngwl OBHEhOFHUIeHT b. 1e958%Heue
C. afyliumemguiest d. @wuwieuyLbLiest

46. sehewall GQuiflw Gsmuiled GL (PSS HmLOLBB e’
a. &.4. 1010 b. &.9. 1500
c. &1, 1020 d. &.19. 2000

47. QUIT(HET SnmIH: (G6M6l
a. gl L b. @alwed C. GLbLIeD d. Ganirsal

48. HHewI(hBH61e0 LILDEDLOWITEIH! 61517
a. GapaaT HeuTsyld b. wewLev LBLIT
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C. OIBHITH d. ggpsyrg
49. 9flalwied HMeVFOIFTEL H6M(ehduILD OLewi(h  GeueMul L’ L g
a. 1993 b. 1991 c. 1990 d. 1992

50. RISCoWm] 6IFHTHSH QWS GHHI CUITITQU (LpS&H6eT  GILIEUETLDETT
a. Geugumpmddwimit b. siehFameowibiDTEIT
C. OIDLIRSHSHIDIOTEIT d. emeup. CaTeHBTUIS SIDLOTEIT

51. Gleuermeumed LOJ&H 60
a. Oxmmig LD b. o mrigb C. B d. @maEb

52.Camgl L. @)L Hm& HIFLS:
saloenll CHdla alpTwisd eTenernr @uibp HT6eD
a. UmemTiguiest LM b. umiur um’ G
c. GBU aleTshE d. o_wirsuiwmd Um_ed&eir

53. 11RSHSTENT QBHTL(H 61(SHHIFLTSH 6mLD

a. Qu(memLD b. Gumuienio C. &MUIMLD d. o awienio
54. GTIEID HITeVe0 OFHTewTamMTBMI QTSI UENSUIT6T L H6i6 OILILITSH6NT
Bmber.
a. (LPevemeVLILITL (B b. @i G
C. LI 196l ILITEn6V d. udBmItiuGa
55. LB6n6USH 66T auensWTsll Lifléseorid
a. Wbl b. om C. L6l d. e
56. HGougend e1aiB GlFmeveller GILIT(HeIT
a. 2_ewie) b. omisme 2 _ewiey
C. b6 2_60Ia)] d. uenLwpg

57. HIHID 6160TLIGHE0T  CILIT(HEIT

a. GFeveuld b. Qumes C. Lp6wf d. wsa

58. el &lluild eTeiTaID [HTL SLD IRIMILD BeVSHHUIGHMSH DIGLILIDL LITHSD
OB TemTL G
a. ST BIBUG b. seteul BIBLISEI

C. SIBHTOMDI d. ypBTEM
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59. 500 BTL&SH FHend elein Seimeneybd o evsld GCUIMBM eueNIHRIGLIGUT
a. LIDLOGY &FLOLIHSEOTIT b. U BaCHT ewL
C. FRIBIHTE GeUTLOSH6I d. Gs.0ur. Hmagewamo

60. s 1H6MeT @emenld WJL GUWT TBHIHI 6I(LHIS.
DIUMJLI LL6Ghd1, 6UTENLD
a. b. sl C. BFF d. ez

PART III - LANGUAGE PAPER ENGLISH

61.Find the italicized part in the sentence that is incorrect:

in Europe are allowed giving

In some Counties in teachers children some home

work only at weekends

a. 1 b.2 c.3 d. 4

62. Choose the correct form of the verb to complete the sentence:

When this morning?
a. did you woke up b. did you wake up
c. have you woken up d. were you woke up

63.Choose the correct answer form of the verb to complete the sentence:

We volleyball yesterday
a. played b. have played
c. had played d. have been playing
64. Choose the correct word to complete the sentence:
There is very petrol in the year. I'll buy some when I go out.
a. few b. much c. a little d. little

65. Choose the correct word to complete the sentence:
He apologized being late
a. to b. for c.on d. of

Read the passage given below and choose the best answer for each of the
questions
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Most human beings are awake during the day and sleep at night. Owls
live the opposite way. Owls are nocturnal. This means that they sleep all day
and stay awake at night. Because owls are nocturnal, this means they must eat
at night. But finding food in the dark is difficult. To help them, they have a
special eyes and ears.

Owls have very large eyes. These eyes absorb more light than normal.
Since there is little light during the night. It is helpful to be able to absorb more
of it. This helps owls find food in the dark

Owls also have very good hearing. Even when owls are in the trees, they
can hear small animals moving in the grass below. This helps owls catch their
prey even when it is very dark.

Like owls, mice are also nocturnal animals. Mice have an excellent sense
of smell. This helps them find food in the dark.

Being nocturnal helps mice to hide from many different animals that
want to eat them. Most of the birds, snacks and lizards that like to eat mice
sleep at night - except, of course, owls!

66.The word “diurnal’ is the opposite of the word ‘nocturnal’. Using information
in the passage, we can understand that an animal that is “diurnal’

sleeps at night and is awake during the day

hunts during the day and is awake at night

sleeps every other night and is awake during the day

hunts at night and sleeps during the day

a0 op

67. Based on information in Paragraph 2, it can be understood that an animal with

small eyes
a. must b4e diurnal b. has trouble seeing in the dark
c. can see very well at night d. must be nocturnal
68. According to the passage, owls can find food in the dark using their sense of
a. sight only b. sight and sound

c. sight, sound and smell d. sight and smell
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69.In paragraph 3 the author writes. “This helps owls catch their prey even when
it is very dark”. What is prey?
a. anoise that an animal makes during the night
b. A small animal such as a pet dog or cat
c. An animal that is hunted by other animals
d. An enemy

70. According to the passage, mice sleep during the day in order to
a. find food that other animal cannot
b. keep themselves safe
c. store energy for night time activities
d. stay awake at night

71. Using the information in the last paragraph, itcan be understood that
owls hunt mice

. mice can hide from owls

mice and owls both hide from birds, snakes and lizards

owls sleep at night

a0 o

72. Which of the following conclusions would work best at the end of this
passage?
a. The owl is a nocturnal animal. This means it is active at night. The owl’s
excellent sense of sight and sound enables it to find food in the dark.
b. Mice are nocturnal animals. This means they are active at night. Similar
to the owl. Mice use their excellent sense of smell to find food in the dark
c. Some animals are nocturnal. This means they are active at night. the
owl and the mouse are good examples of animals but the use their
senses to find food in the dark
d. The owl and the mouse sleep during the day and stay awake at night

73.Choose the right question to get italicized part as the answer
The Children are sitting in the garden
a. Where do children sit?
b. Where have the children been sitting?
c. Where are the children sitting?
d. Where are they sitting?
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74.Find out the pronounced differently from the others

I. blood
II. moon
III. soon
IV. mood
a.l b. II c. III d. IV

75.Find the word that is pronounced differently from the others

I. bear
II. dare
III. fare
IV. dear
a.l b. 11 c. [II d. IV

76.Find the word that is pronounced differently from the others

I. enjoyed
II.  jumped
II.  died
IV. filled
a.l b. 11 c. III d.IvV

77 .Find the italicized part in the sentence that is incorrect
It is a well idea to encourage boys to learn to cook
1 2 3 4
a. 1 b.2 c.3 d.4

78.Choose the word which has almost the same meaning as the italicized one
I help them to assemble the different parts

a. manufacture b. store c. check d. fit
79.Choose the correct antonym for the italicized word

Travelling is considered very dangerous
a. harmful b. peaceful c. safe d. exciting
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80.Choose the correct antonym for the italicized word
This is a common thing
a. strange b. funny c. real d. special

81.Read the short conservation given below. Identify the language function in the
italicized sentence

Shrimathy : That remark was uncalled for
Venu ; I'm Sorry. I shouldn’t have said it
a. apologizing b. wishing c. blaming d. forgiving

82.Read the short conservation given below. Identify the language function in the
italicized sentence

Arun ; What shall we do this weekend?
Sheela ; Why don’t we go on a picnic?
a. welcoming  b. inviting c. suggesting  d. advising

83.Choose the correct question tag
Mary has answered all the questions ................. ?
a. doen’t she b. didn’t she c. wasn’t she d. hasn’t she

84.Choose the correct question tag

Hanif wasn’t listening ............. ?
a. was he b. has he c. did he d.isn’t he

85.Choose the right question to get the italicized part as the answer
Hari is writing a letter
a. What does Hari write? b. What is Hari writing?
c. Who is writing a letter? d. What is Hari doing?

86.Choose the correct word to complete the sentence
We are satisfied ........... our son’s progress this term
a. for b. on c. about d. with

87.Which of the following is a form of the verb “be’?
a. may b. am c. can d. will

88.The passive form of the sentence ‘The Blue team won the game” is
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a. The game is won by the blue team

b. The game has been won by the blue team
c. The game had been won by the blue team
d. the game was won by the blue team

89.The reported form of the question Renu said to me, “Is the movie interesting ?’
is
a. Renu asked me if the movie was interesting
b. Renu asked me if the movie has been interesting
c. Renu asked me if the movie is interesting
d. Renu asked me if the movie had been interesting

90.Choose the word which has almost the same meaning as the italicized one
She seldom goes to conference
a. nearly b. rarely c. slightly d. incredibly

PART IV
ugs - IV

MATHEMATICS
&M HLD

9.0 GelTarsemiOulguisr g 9% eolBumer eaufl eisb eiBuener eufl h.1,170
aTfled DIHT DI HHeNen60

a. 5.10,530 b. e5.12,960 C. @5.13,000 d. e5.20,000

The sales tax on a refrigerator at the rate of 9% is Rs.1,170, then the actual sale
price is

a. Rs.10,530 b. Rs.12,960 ¢. Rs.13,000 d. Rs.20,000

2. grupelenr  SBCUTMHW WG  SQUHMLW  SHOSUNET U0  LITHWTGLD.
uFwabdH DLW BHEHEE (P& SHhHewHUleT euSTeard Jrpaler  auuwenSLIGLITeD
(PIDIDL MIBTS BHHHH! 6Terie0 DiauTHeller HBOUTEHHW UL
a. 42,84 b. 24, 84 c. 40, 80 d. 24, 48
Ramu is now half as old as his father. Fifteen years ago the father’s age was
three times as old as Ramu. Then their present ages are
a. 42,84 b. 24, 84 c. 40, 80 d. 24, 48

Note: Given Options are wrong; Correct Answer is: 30, 60
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93.7eroeufl  @eUGeUT(H  WTHS HlUSBSHHID  H.350 8 T DEHFVBHIH0 6
AMBBEHEG OCFSsH eubsHTeT, (Paled SleueT (15.32,865 CUBBTET. &HleML HSH
ALl eiHLD
a. 6% b. 10% c.15% d. 8%

Easwari deposited Rs.350 per month for 6 years in a recurring deposit account
in a post office. If she received Rs.32,865, then the rate of interest is

a. 6% b. 10% c.15% d. 8%

M.m o mwenuler ouIb BB o wrbHear aldlabd 5 : 7. Coeld DIHT He
Slenay 4400 &.05.15 elele0 Siela(Hewenulledt STID
a. 10 Q.1 b. 25 Q5.6 c. 15 Q.8 d. 20 Q5.5
The radius and height of a cylinder are in the ration 5 : 7. If its volume is 440
cu. cm then the radius of the cylinder is
a.10 cm b. 25 cm c.15cm d. 20 cm

95.21 Q815 udss eneyewLw ABCD  eeop  gagpsder BosdiiulL  LGauler
LTLILI6NT6)

a. 140 Q&.152 b. 256 QF.1? C. 252 QF.152 d. 272 Gg.f?

Find the area of the shaded portions in the figure, where ABCD is a square of

side 21 cm.
a. 140 cm? b. 256 cm? c. 252 cm? d. 272 cm?
9%.9m WEHBsmaisHer clpety  Comemimibeiet @MHFID  CalpHeT  FhHHBGID L6
SILD(Lp BT 6wt &3] 681
a. &MUl eI LenLDuILD b. QFmGaT B ewowid
C. BBHHCHT (B ewLouid d. 2 elteul’ L emwowib

The three angle bisectors of a triangle are concurrent and the point of
concurrence is called the

a. circumcentre b. orthocenter

c. centroid d. incentre
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97.11, 12, 3 SYRIGTHS BT G QI LHBIGT 2 L LBLOTES  CSHTHIOTENTe0 6l L
MLDWIMRIBEHHE Sl Bul 2 66 HMTLOTEISH] FLOLOTEIG
arn+n b. 2r; .21 d.ri-n
If two circles of radii r; and r, touch internally, the distance between their
centres is equal to
a.ri +nr b. 2ry C. 21> dri-n

98.A, B, C eaeaiuautser @ Geousmevenwt (penpGui 12, 15, 20 BT &efed (LQliLmTHel.
Biveaumd CFhEH @b Gauemev GauidHert. et B alewd alGamrt eeflsd A, C
B meurd W psitenm Geuemeveduwl (PIQHdH 61BHEGLD [BILGH6T 618FHN60T?
a. 8 BT &6 b. 7 Bl ser C. 9 BT &6l d. 6 mT &6l
A, B and C can do a work in 12, 15 and 20 days respectively. They all work for
one day. Then B leaves the group. In how many days will A and C complete
the rest of the work?
a. 8 days b. 7 days c. 9 days d. 6 days

9.9m gfeussddHer ugly 3332 6F.152 LBPILD DHHT RH USE emey 8 .16
® Wy 5.6 OF.15 elefled LOBOMTIH LSS D66
a. 11.9 Gg.18 b. 3.9 Q5.8 c. 89 Qg6 d. 5.9 Qs.6
Area of a trapezium is 33.32 cm?. Its one side is 8 cm and height 5.6 cm, then
the another side is
a.11.9 cm b.3.9cm c.8.9cm d.5.9cm

100. 17,15, 9, 13, 24, 7, 12, 21, 10, 24 eaei3 uyetefl eleuymiseflest (Ww&s@®  OBHBID
BenLHlemeowleney HewiB Deumplest Fyrall &L
a. 21 b. 24 c.19 d. 14
The mean of the mode and median of the following data
17,15,9,13,24,7,12,21, 10, 24
is
a. 21 b.24 c. 19 d. 14

101. x-y=6,xy=4 aaied x3-1y> a1 wHIL
a.272 b. - 288 c. 248 d. 288
If x - y = 6 and xy = 4 then the value of x3 - 13 is
a.272 b. - 288 c. 248 d. 288
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102. X3 -3x2 - x + 3 e U GCasTeweuuler @ smyenfl (x + 1) erefled
SIFH6T OBM BT 600N H6IT
a.(x-1), (x-3) b.(x-1), (x+2)
c.(x+1)(x+3) d.(x+1), (x-3)
If one of the factors of the expression x3 - 3x2 — x + 3 is (x + 1), then the other
factors are
a.(x-1), (x-3) b.(x-1), (x +2)
c.(x+1)(x+3) d.(x+1), (x-3)

103. Bm eemider 5 : 3 aaim alFHHIHeo o siener. Seumpsler Ceumium@® 18
6Ta0T60  ©)6110)6)6HTH6IT

a. 42,57 b.54, 72 c. 45,27 d. 47,52
Two numbers are in the ratio 5 : 3. If they differ by 18, then what are the
numbers?
a. 42,57 b. 54,72 c. 45,27 d. 47,52
104. 3a2bc,5ab?c, 7 abc? &1 18.6UM.D 6TI&ILIG
a. 35 a2 be? b. 105 a2b2 ¢2
c. 15 a2 b2 ¢? d. 105 abc
The LCM of 3a2 bc, 5 ab? ¢, 7 abc?is
a. 35 a2 be? b. 105 a2b2 ¢2
c. 15 a2 b2 ¢? d. 105 abc
105. 11 Guenmdseien oI _ssalmev 10 Buambseilar alBm alemeud@ FbD 6T6fle0
BeoTU FHATHID
a.10% b. 100% c.11% d.21%
The cost price of 11 pens is equal to the selling price of 10 pens. The profit per
cent is
a.10% b. 100% c. 11% d.21%

106. SimJ el L eangaleoren UmisTalear b 14 18 e WBLLHSGE ah. 8 aipld
5B FBBIGeN DiMLSE HGHWD 60F606)]
a. @p.576 b. em.657 C. @h.756 d. ap.765
A park is in the shape of semicircle with radius 14 m. The cost of fencing it at
the cost of Rs.8 per metre is
a. Rs.576 b. Rs.657 c. Rs.756 d. Rs.765
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107. IT&e0  5.5,000 & ewiB Sy ool el  aiHHIHe0  emeuliBHHwITS
CFVISHIHIBTT. 615HHEMET QUHLMISH6M60 H.5,800 03 SleuT GLXIEUTT?
a. 3 eu(pLmisbereD b. 2 eugpLmiseried
C. 4 QU(HLMIB6IT6D d. 5 eugpLmisefle0
Rahul invested Rs.5,000 at the rate of 8% simple interest per annum. He
received Rs.5,800 after some years. The number of years is
a. 3 years b. 2 years c. 4 years d. 5 years

108. 100 TewieuTdeiler AIGLwHaT Fyrgm 40 eTeiml HWIGBL LI L &I, L6
53 elei3  LAHIICUEHT 83 6IHIWI  HOUBISHLTH IBSHBIULL G OFHflweubsHsl.  Fhuwimest
WFHIOLeTISmend Osmewni(h Fflwmer Fyma
a. 39.7 b.37.9 c.29.7 d.27.9
The mean mark of 100 students was found to be 40. Later on, it was found that

a score of 53 was misread as 83. The correct mean corresponding to the correct

score is
a. 38.7 b.37.9 c.29.7 d.27.9
109. 5 etewikerilenr FgmFfl 32. SleuGeuswideied qeiedm BHeH@GWOUTE gyraflwuns 4
GOBHSTEL HHSLILIL L 616001
a. 84 b. 42 c.48 d. 24

The mean of the 5 numbers is 32. If one of the numbers is excluded, then the
mean is reduced by 4. The excluded number is
a. 84 b. 42 c. 48 d. 24

110. Ogeleus eaugaupsiien  qh GCaMiLSHHar Seneyser 30 18 x 20 (6.
CxpmLHmaps ampl Geueflliymshsled 1.5 5. SDBLHHe0 e  FJmer  LTenSH
FHTOLL (G H.6 aHD HMLSSILGHBSH 6lalled DiHet OoTHs CF6eve|
a. em.495 b. em.754 C. h.854 d. em.954
A garden is in the form of a rectangle of dimension 30 m x 20 m. A path of
width 1.5 m is laid all around the garden on the outside at the rate of Rs.6 per
sq.m. What is the total expense?

a. Rs.495 b. Rs.754 c. Rs. 854 d. Rs. 954

111. FhHEGH: 240 +33/625-43/320
a. 1632 b. 533 c. 335 d. 334
simplify: 2:/40+3.3/625-4.3/320
a. 1632 b. 533 c. 335 d. 334
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112. R e L HHe0 yetell A 60 euenywiupd GaTGCst® DE, AB eulLgger
prewl Ggld ZBAC =65° 10B@ID ZBAE =58°6iaiml  Slewowomml el L GFHleir  Goed
o eitenn Leitel C e1afled ZABC &1 &I

C B

D A E

a. 180° b. 90° c.57° d. 123°

113. 42 QF.18 eurpeen @b Ul LSHelmhba 240° eouibBHTenId CBTE (b
Al L&Bameaniiu@Henw  OQeul’ly BHFH, DHT LTHIHMET  QISNeIHH (T
FnlDLITH B0 SHlenL_SH@GHWD FnlbDLI6  aUEETLITLIL
a. 4624 O&.U72 b. 3696 GQ&.152
C. 6369 GF.152 d. 6639 G&.152
A sector containing an angle of 240° is cut off from a circle of radius 42 cm and
folded into a cone, then the curved surface area of the cone is
a. 4624 cm? b. 3696 cm?

c. 6369 cm? d. 6639 cm?

114. 8 ouenidel @ Gouemevenuwl BTGeTTEIBISE 9 wWwenll ChIb GCeuemsv OFUIH 28
BT &S6Me0 (pliuf. DI85 Geaumevenwl 12 a6l BTOTTEIBISG 7 Lewi GBILD
BGouemev OFUIHT6V, 61dHGHmen BT Heiled DlelGalenevenul (LPIQLILIT?

a. 20 BIL &6 b. 18 mm e

C. 28 (BT &6l d. 24 BT ser

Eight men working 9 hours a day can do a piece of work in 28 days. In how
many days will 12 men working for 7 hours a day do the same work?

a. 20 days b. 18 days c. 28 days d. 24 days

115. 100 sjenemeuserfled WSLGURAW W 3.84 &.& wBBID DBy afFs 2.46
&.F. ealed el Sleneneudberlled WBFFAM O
a. 1.38 &.a b. 3.38 &.4 C. 238 &.& d. 6.30 &.8

The largest of 100 measurements is 3.84 kg. If the range is 2.46 kg, then the

smallest measurement is
a.1.38 kg b.3.38 kg c. 238 kg d. 6.30 kg

116. Rh (WECasTambHer ey Comewmisellear aldsmiser 2 : 4 : 6 eeie0
DIFHeT CHTew  HI61T6YBH6NT

a. 30°, 60°, 90° b. 20°, 70°, 90° c. 40°,60°,80°  d.26° 58°, 96°
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The measures of the angles of a triangle are in the ratio 2 : 4 : 6, then the angles
of the triangle are
a. 30°, 60°, 90° b. 20°, 70°, 90° c. 40°, 60°, 80° d. 26°, 58°, 96°

117. x=2++/3 aale0 xz—iz&f[ LD
X

a. 14 b. 83 c. 43 d.o0
If x=2++/3, then the value of «’ —izis

X
a. 14 b. 83 C. 43 d.0

118. Bm BLmsEndHEG el BuiuleTen  GEHTeneva) 61% HiS. @ BH FhJ

AUTHID DIHSH OHTenevenaNS HLHD 2% wewil GBI IhHHHOBTENHBH 6163160

B 6537 auTdHaIHHler Gousld
a. 25 glib b. 40 &.8 c. 35 &S d. 20 &.8

The distance between two places is 61§km. If a two wheeler takes 2% hours to

cross the distance, then what is the speed of the two wheeler?

a.25 km b. 40 km c. 35 km d. 20 km
119. 1,2,5,6,14, 24, 30, 120, ....... oy OFHTL_MesT DIBHSH eTewr
a. 91 b. 55 c. 720 d. BauBmien agia|evemev

The next number of the sequence
1,2,5,6,14, 24, 30, 120, ........

a. 91 b. 55 c. 720 d. None of these
4 77 5 3) 7 .
120. —4+—=| - |x= &@E &LLDTeT
52 (2 4) g *O ol
a. 12 b. 3> c. 211 d. s
20 20 20 20
4 77 5 3) 7.
—+—+(———jx— is equal to
5 2 2 4) 8
a. 1i b. Si C. 2£ d. 5i
20 20 20 20

Part V - Environmental Studies
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121. Marconi invented the radio with the help of the invention made by
a. Vikram A. Sarabhai b. Jagadish Chandra Bose

c. Charles Babbage d. Pascal

S1pHHTaID ghHeufler HewiGLlgliler o HalGuim® nT@smeni CrigGuimene
SeI(BLIIQSHHTT

a. aléyb A. gmgruml b. Gmakhed ghaly Gumerd

C. FMiTev6rd LITLITER d. umerdesed

122. Identify the wrong pair with reference to milching animals

a. Gir, Sindhi b. Jersey, Caronswiss
¢. Gir, Murrah d. Sindhi, Jersey
Leteu(pld speneu TH EenenisHeaied Heupmer Senenr 6157
a. &, fpd b. GxTey sTreTervalerd

c. &, qapym d. dpg, Qs

123. A typical example of visual, non project 3 -D aid is

a. Realia b. Television

c. OHP d. Radio

SWIamIBI, MbSHHT (pluflioren o LSFaETSHIBESG THSHHISHTL (B
a. Mgl b b. Qzremevdat &

c. GuweouL eafipsHa (OHP) d. GygGuir

124. Which of the following is the odd criterion of a good test

a. Objectivity b. Acceptability

c. Reliability d. Clarity

QR HeVeL CHiTeydh@ @606 SHTIeNIeNL DIGHLWITOID SHT6EwIS.
a. UBeUwSH616mLo b. gBmIS6BTeNTEnHH6e0

C. 2_GUIGNID HEITEMLD d. erefemio

125. The philosophy behind the project method is

a. naturalism b. idealism

c. constructivism d. Pragmatism
CFweLdI L (penpullsvieien HHHIMILD

a. QuBens OlsTeTens b. a®m&HHwed CBTeTens
C. 2 _(HUTH@GID OBTelTens d. vweneneme OBTeTNS

126. Melagiri hills is situated in the district of
a. Krishnagiri b. Erode c. Dindigul d. Coimbatore
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Goeualfl wemev HC EMIIILL 6IhS LOTOUL L SHFH60 DIMLOHSI6T6NHI?
a. dmagenral b. #Gymn®p
C. HeWI(HbDH60 d. Gamwibysbami

127. Mamallapuram and chengalpattu are famous for which work

a. Weaving of silk b. Soap stone carving

c. Red and black pottery d. Granite carving

LOTLOGVGVL|J (LD, OFMISEOLIL (BLD SHDHHTEID HenevH6I60 61HMBEG LISLDOLIBBene?
a. uL®B OpFey

b. Gamiy &60 CFHIHGHH6L
C. &@UY WB@Ib CFbHBB WL uTei b CFUIHev
d. Hyremen’ QFHHEH60

128. A student after receiving the content of a subject, is able to analyse the
content. The behavioural change belongs to the domain/s
a. cognitive and affective b. cognitive only
c. affective and psychomotor d. affective only
urLliGumpemen  UfibgHOsmemiL L6l  oTemieuedl  UTLSHemd  UGHSHITUIe|  Gguiul
Yrapg? Gbs bLE®S WIHBD GHSSD LG
a. 9He0 UGS LBpID o auiTFd LGS
b. 9figed LGS WL (B
C. 2 ewiTFd UG BBID (WPWwBd T UG
d. o_ewiidd LG WL GO

129. “Lesson plan is the outline of the important points of a lesson arranged in
order in which they are to be presented to the students by the teacher”. This
definition is of

a. International Dictionary of Education

b. Lester B. Stands

c. W.M. Ryburn

d. Bining and Bining

UTLSSILLID 61Ul @(h UTL St (pSh&Swomet GHBiLLsmen eauflengliLi(hsha)
LOTERTOUTHGHHESG UFNWT TBHEH OFevad (Wenm . BelalmIamuiens DieMbHHEl
a. d60al 2 Vb BT b. QeverbLiT B. erbLmewiL erd

c. WM. ewyuitest d. Ueieim 9w LeTemm

130. Which chart is used to present the growth of a family right from their
ancestors
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a. Flowchart b. Tablechart

c. Treechart d. Timechart

Gbu FhsHd euenTFHulener SeuTsellen (WearCamiseaisd SmbaH GHNWLILBGHHID
QUEDTLIL LD

a. GuréE euemLILLD b. oI Leuement euemyLILLD

C. &lemern 6UMJLIL LD d. &mev euenyLILLD

131. A child is suffering from bleeding gums and loosening of teeth. The names of
the disease and the vitamin that is deficient are
a. Scurvy, Vitamin C b. Haemorrhage, Vitamin K
c. Rickets, Vitamin D d. Pellagra, Vitamin Bs

GhmSa6eilsd gBUBD FEiGeale) BIHHID algHed WBYID LD alPHISE
STJEIOTET emeUl L 1O LBBTeSGemm  Grmul

a. ewaial, eneu Lidesr C b. anfioGrerd, eweu Liflesr K
c. M&Gs o, eneul Lifesr D d. GQuevevsym, emeul Liflesr Bs

132. The part where cones are densely packed within the right eye is

a. sclerotic coat b. choroid coat

c. lens d. fovea

AUeLGH| HewTenlert 6MILGHHUND FnlDl| OFLH6IT SILTHHWTS STl LGB BSHI?
a. edefCrmiiods o emm b. Gamymui’ o ey

c. Gevaiterd d. . .Gumelwmr

133. A student of IVth class placed certain things in a first aid box. Find the odd

man out
a. foreceps b. sodium chloride
c. syringe d. pair of scissors

BTAISTD QUGLIL LIgH@GLD Lomewiel (WHIHalll QUL Iguled SpsTamild OUITHL &ener
MEUSHJIGTENTET. QS0 HoUBTeIH 6157

a. BbhHa

b. Gzmouib GGemmeny®

C. omdl cpeUlD O(HHSH 2 L CFaSHHID SHEWIewITy (&HL60

d. s58Ma6smen

134. The plant that has the best air purifying capacity in the world is
a. valisneria b. bamboo

c. palm d. jatropha
o euElQVIeTeN FHTeUTHIS6MNE 0SS HBOUL STHRB FHHSNHEGHID HeTenLOU DL LI
STeUTLD 61517
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a. eumedlerommwim b. cpmided
C. Lene d. e Gyrum

135. A man is riding a bicycle. The motion(s) observed is(are)

a. only linear motion b. only circular motion

c. oscillatory and circular motions d. linear and circular motions

QRH LNHET mFbHerNed Fourfl GFUIUD GUTIE SPEHITERID BUIbHD (HISH6IT)
CewedLBEHBSHI(SleTment)?

a. CpTCsm_(h Buwdsd WL B b. 'L uissd LB

C. SIM6EVEY BMWILD UL Buiseld d. CrTBaTl (B wBBID eu'L Huibslbd

136. The permanent employee of the village Panchayat is the
a. President of the Panchayat
b. Vice President of the Panchayat
c. senior most citizen of the Panchayat
d. Secretary of the Panchayat
SPTD LIehFTWSHH60 HITHSHLOTEOT  LIGTOTUITETTT
a. &PMD UEhFTWSHSH HeN6V6T
b. &ymo UEhFTWHSH! HIEHEWT HEMELAIT
C. UEhFTWSHHN (pSHSH GHLQLDH60T
d. uehsTwsHer CFwievi

137.1f a person wants to cross the road where there is no zebra - cross, he has to
a. look to his right and cross the road
b. first look to his right, then left and then right again and cross the road
c. look to his left and cross the road
d. first look to his right, then left and cross the road.
‘aflgHar HLEGD UTend @e0eoTdH GBI HH60 PHAUT FTeneveUl BLSEGHIDBUTSH)
sHeuallis Calemrguisp
a. QLG USBLD UMTHFH FTenevenw! HLdHd Geuewi(BLd
b. wseded eueEILGHD LMTHE, 16T BL & USBID UTTHS, DiH6T LT 1awiBLD
AULGILISSID UTTHSH FTeneoeml &Ld Geuemi(BLd
C. @LLILGSD UMTHH STenevend HLbHd Goueni(HLd
d. (wseded euevlILGsID UMTHE, N6 L LILUSHID UTTHEH FTaeOmUl Sl b
Gouemwt (BLD.

138. The wheel (chakra) on our National flag has the colour and the number of
spokes respectively are
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a. Navy blue, 24 b. Royal blue, 24

c. Peacock blue, 22 d. Cyan, 22

B CHFAws0sTuied DICFTHT FHBHIHHEL 2 66N BB, DIFFHBIEHH60
o _6iTeN

SIRIH6T 6T  6TeunTenllbeamdUD (LpenmGul

a. OILT peuld, 24 b. gmwed mevid, 24

C. ulevBHTend Hevld, 22 d. swmer, 22

139. Bow and arrow was the emblem of which kingdom

a. Cholas b. Chalukyas

c. Cheras d. Pandyas

alle0EID, SIDLD 61hSH DITFHEDLUI FleTemIS6eNTS alemmidsiuig?
a. Gampiramel b. grepdsdwinsen

c. Gayiiameir d. umemnguiTaEel

140. The traveler who came to India through the Kashmir valley during the reign
of Harshavardhana was
a. Fa - Hien b. Hieun - Tsang
c. Ibn Batuta d. Megasthenes

ABTAGT HTVHHL HTAIJLT LeTeNSHIHTHEG eubms SbHw BTLIYBG b
GeuelBT (5 LuLeDT

a. umanluwimest b. weunemr seurm c. Buent ugTHSHT d. GEerOHeTN6rd

141. Double fertilization occurs only in

a. salamander b. fresh water fishes

c. all seed producing flowers d. aquatic plants
BrlenL SHHABIHL EFH60 L (BHD STl ILGHBSH

a. FTEULDTENTL T b. mevtafit etieB61
C. 6T6V60T GIMBHEMGT 2 _(HEUTHGD LB d. B1$ sreugsien

142. The importance of the year 1983 with reference to wildlife is

a. Indian Board for wildlife was formed

b. National wildlife Action plan was introduced

c. Wildlife Protection Act came into force

d. Establishment of National Parks by the Government of India
auere_ulflemisenen QUTBISHSHI 198310 6wy (PSHSWSHHIID aUTUIHSHHI. 6J6l6T6nT6e0
a. euere_ulflesr LUTHISTIL eumflud o (HeuTeg
b. Gafw euere_ulflen GQFwWOA LD SBIWPSILGSHBLILIL L G
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C. euere_uflifleor LITGISTUL FLLLD BOL(PMBESG UbHDHSHI
d. 8w gpFTed BHEW L BIBTHHET 2 (HaUTHBUILIL L

143. The exotic variety of honeybee is

a. Apis dorsata b. Apis florae

c. Apis indica d. Apis adamsoni

@glev e1g Geualpr B Cxpel euenss?

a. gilerd GLmiral L b. guled yGenmfiGui

C. gLlerd BewgHT d. guile &y 1bBgme

144. Which one of the following is not true in respect of water
a. Water in the aquifers is not useful to human beings
b. Most of the fresh water reaches to the ocean through rivers
c. The moisture in the soil indicates the presence of water
d. Precipitation in the form of rain or snow provides fresh water to our earth.
Leteu(pld SnBBIBeie0, B LUBSIL SHeupmer Byl 61gl?
a. pHireammIEHaTeeTen BT alHIhE@ LIWGTLBMISH 660
b. eymiBeien cpeolDTd HETRT HL VL 6T HeLHBMSH)
C. LDGuTenNlel FISHBHIGMID, BT 2 _6IT6NendH 2 6WITHHIH MBS
d. wepOUTHe) Sievevd UIOUTIH®] ceulDTd HeHHBE BRI CUHHML SBSHI

145. While burning the fuels the pollutant that reacts with Hemoglobin and makes
the man leading to death is

d. SOZ b 03 c. CO d CH4

aflQummener  emfiliuger  cpeoomsd  GeueMulBhales OT& LS
Brssdsieien afGwreGsmmusimiLar allmayfiba SBiY gBUGSBS!

a. 802 b O3 c.CO d CH4

146. Identify the correct match in respect of major plates and smaller plates of
pangaca respectively

a. Antarctica North America

b. South America - Africa

c. Australian - Arabian

d. Eurasia - Pacific

utmidlwmeler Quflw s BéHser B Flw S GHeT Fflwns QUTHHSHUeTeTemns
CxpiTap:

a. SIeWILITTIQHT - el CfdbasT

b. Oz 9CwidsT - guifbst
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C. 9LeraIGredlwim - OIILIHHL 6D
d. wGyduwm - UGB 6D

147.Equal day and equal night happen on which of the following days
a. March 21st, September 234 b. May 18th, December 20t
c. January 14, June 16t d. June 20th, December 28th
Brab useid Gy MHemeoulled gmUGBLD HTL &6l
a. g 21, Qg ur 23 b. G 18, w&buiT 20
c. maeul 14, ofeir 16 d. sgeeir 20, wabUT 28

148. The trees that are found in the forests where there is 100 cm of rainfall are

a. cedar and oak b. sal and teak

c. pine and walnut d. babul and palmyra
100 Q&6 wenp QUUIULID STHSH6MEIETEN LDJHIGH6T?

a. LT BmIb @b b. gmed wBEpId CxHG
C. 6OLGH LBMID 6UT6VBHL d. umyed WBBID U6

149. The metal, first used by human beings and the Indian State where it is found
in plenty are
a. Iron, Orissa b. Copper, Andhra Pradesh

c. Iron, Madhya Pradesh d. Copper, Rajasthan

OGN HETED (LPSHS(PHeV60 LWLGSHSLIUL L 2 Geonsld LoBBID B& DIHHLOTH
® eiterl @HSHUI LOTHIEVLD

a. ®miby, eflam b. Qaiby, eupdr MPBHFID

C. &b, wHHW LFChHabd d. Ggy, ByremerdgHTest

150. As per which Article, the president of India is empowered to declare financial

emergency
a. Article 352 b. Article 356

c. Article 360 d. Article 63

Bbs sTHSILY, Bbsw RamFug B CbGssRUIMmeT DLOLBSHD AHSTILD
LI6DL $HFH6UT?

a. FyHH 352 b. sysa 256 c. 165 360 d. sr53 63
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